Aim: How do we multiply and divide more
complicated radicals?

Do Now: 1. Multiply: (1+ x)(1+ x)

2. Multiply: (1+ v/2)(1+ +/2)
15x° + 5x°
dXx

15/8 - 54/6
542

3. Divide:

4. Divide:




To multiply binomials involved radicals, we can
treat the radical as a variable and use the FOIL
method.

1+ f)(1+ J2)= 1"+ 2+ 2+ 2
14024223422

(34 V6x)(1+ /2x)= 3+ 33/2x + /6x + /12x7

= 34 33/2x + J6x + V4B
= 34 3/2x + J6x + 2x/3




To divide 15V8 = 5V6
542
we can separate the fraction into two fractions as

158 576 (8 6 o
5\/5-5\/5-3\/;-J;-3\/Z—\@-6 J3

12110a% + 8v/15ab" _ 12104 + 8/15ab>

Simplify:

4~/ 5ab 4~/ 5ab 4+/5ab
10a°b 15ab°
310t IS e 2438

S5ab S5ab




Express the product in simplest form

(3- /6)(5+ V/6) 9- 26
(9+ v2x)(1+ v/2x) 2x+ 9+ 104/2x

(7+ /5a)(7- /5a) 49 - 53
3V10- 9950 J2- 3410
345

3/27 3+ 3/36 5
i@ : 39 + %/12362
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